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1. GeoGebra5.0 Beta &+ i\sb

http://download.geogebra.org/installers/5.0/

[ Index of finstallers, x

C' [ download.geogebra.org/in
Index of /installers/5.0

Name

stallers/5.0/

Last modified  Size

Description

: Parent Directory
@ GeoGebra-Linux-Portable-4.9.253 0. tar bz2
Iz GeoGebra-Limm-Portable-4 9 255 0 tar bz2
L @ GeoGebra-Limux-Portable-4.9 2356 0 .tar bz2
@ GeoGebra-Limm-Portable-4.9 257 0 tar bz2
ﬁ GeoGebra-MacOS- [nstaller-withJava-4-9-

252

10-Mar-2014 16:03 96M GeoGebra Portable 4.9.233.0 for Limux [Test.OpSys-Linux Tvpe-Archive]
19-Mar-2014 20:38 95M GeoGebra Portable 4.9 235 0 for Limux [Test OpSvys-Linux_ Type-Archive]
24-Mar-2014 21:32 95M GeoGebra Portable 4.9.236.0 for Limm [Test, OpSys-Limu, Type-Archive]
28-Mar-2014 12:03 95M GeoGebra Portable 4.9 257 0 for Limm [Test, OpSys-Limm, Type-Archive]
-0.zip 04-Mar-2014 14:24 67M GeoGebra 4.9.252.0 for Mac OSX [Test.OpSyvs-OSX. Type-Archive]

-0 zip 10-Mar-2014 16:04 72M GeoGebra 4.9.253.0 for Mac OSX [Test. OpSys-OSX Type-Archive]

ﬁ GeoGebra-MacOS-Installer-withJava-4-9-253
MacOS-Installer-withJava-4-9-254

255

-0.z7ip 18-Mar-2014 1507 72M GeoGebra 4.9.254.0 for Mac OSX [Test.OpSys-OSK. Type-Archive]
-0.zip 19-Mar-2014 20:39 71M GeoGebra 4.9.255.0 for Mac OSX [Test.OpSys-OSX. Type-Archive]

‘ ﬁ GeolGebra-MacOS-Installer-withJava-4-9-
ﬁ GeoGebra-MacOS-[nstaller-withJava-4-9-256.

-0 zip 24-Mar-2014 21:53 71M GeoGebra 4.9.256.0 for Mac OSX [Test.OpSvs-OSX, Type-Archive]

ﬁ GeolGebra-MacOS-Installer-withJava-4-9-257

-0.zip 28-Mar-2014 12:04 71M GeoGebra 4.9.257.0 for Mac OSX [Test.OpSys-OSX. Type-Archive]

GeoGebra-Windows-Installer-4-9-253-0 exe
GeolGebra-Windows-Installer-4-9-234-0 exe
GeoGebra-Windows-Installer-4-9-255-0 exe
GeolGebra-Windows-Installer-4-0-236-0.exe
GeoGebra-Windows-Installer-4-9-257-0 exe
ﬁ GeolGebra-Windows-Portable-4-9-233-0.zip
ﬁ GeoGebra-Windows-Portable-4-9

-254-0.7ip

ﬁ GeolGebra-Windows-Portable-4-9-

10-Mar-2014 16:02 53M GeoGebra 4. 9 253 0 installer for Windows [Test, OpSys-Windows_ Type-Installer]
18-Mar-2014 15:05 53M GeoGebra 4.9.254.0 installer for Windows [Test.OpSys-Windows. Type-Installer]
19-Mar-2014 20:37 52M GeoGebra 4.9 255 0 installer for Windows [Test,OpSys-Windows_ Type-Installer]
24-Mar-2014 21:50 52M GeoGebra 4.9.236.0 installer for Windows [Test.OpSys-Windows, Tvpe-Installer]
28-Mar-2014 12:02 52M GeoGebra 4.9.257 0 installer for Windows [Test, OpSys-Windows, Type-Installer]
10-Mar-2014 16:02 63M GeoGebra Portable 4.9.233.0 for Windows [Test.OpSys-Windows, Tvpe-Archive]
18-Mar-2014 15:06 63M GeoGebra Portable 4.9 254 0 for Windows [Test.OpSys-Windows. Type-Archive]
19-Mar-2014 20:57 62M GeoGebra Portable 4.9 235 0 for Windows [Test, OpSys-Windows, Type-Archive]
24 Mar-2014 21:51 62M GeoGebra Portable 4.9 236.0 for Windows [Test. OpSvs-Wmdows, Type-Archive]
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@ B=Translatefpt Vec
] 2.

tor]A,A+(1,0)]]

ORES XY NNE I8 N

@ c=Circlr[A1]

@ P=Point[c]

@ B=Translatep\t Vec
2) % &) 3

B 1

torfA,P]]

O T ¥t FFFn- 2180
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2 A= TranslateD,t Vector[0,0+(1,0)]]
3 B=A+(1,0)
@ polyl=Polygonp\,B,n]
5] 2
O fFEfFit-KeFFr-2ig0
2 Q= TranslateD,t Vector[0,0+(1,0)]]
@ A=Q+(rcos(0)r sin(0)
@ B=Q+(rcos(120 )r sin(120°
® C=Q+(rcos(240 )r sin(240
® a=Segment,C]
@ b=Segmenth,C]
c=Segmentj\,B]
B)L 4o MehTfH 1 w5 AL B
@ ¥8. A=(1,0,0)~ B=(0,1,0)~ C=(0,0,1) ~ D=(1,1,1)
@ FEEFF X Yo 2ot
® u= (%Yo 2)
@ A =Translatep, tu] ~ B, =TranslateB, t u]
® C,=TranslateC, tu] ~ D, = TranslateD, t u]
©® a,=SegmentA B] + a,=SegmentAC] ~ a, ~ ... ~ &
@ b=SegmenitA,B] - b,=SegmentA,C] ~ b, ~ ... ~ b,
3. g
(1) B-eradd
OirEig O kEFFr- sRFY
@ A=0+(r,0)
@ B=Rotatepf O
@ c = CircularArc[0,A,B]



(2) & %2,
Bl L3 = &35
O irEieQ wEF%r- 4RF%0
@ A=Q+(rcos@)r sin@)
@ B=Q+(rcos@+ 120 ) sing+ 120°
@ C=Q+(rcos@+ 240 ) sinff+ 240
® a=Segment,C]
® b=Segmentj,C]
(@ c=Segmentj\,B]
b 2 F nif A ek
OiFEBO - HEFEr - 4 RFFO - FoFHEn
@ list1=Sequence[O+(r caB¢2 (k)/n),r sin@+2 (kx)/n)),k,1,n]
@ list2=Sequence[Segment[Element[list1,k],Elemesitflik+1]],k,1,n-1]
@ c_0=Segment[Element(list1,1],Element][list1,n]]
] 31 nif A%
O FTELLOKEFFt - FEFFEn- 4250
@ Q=TranslateD t Vector D O+ (1,0)]
@ polyl=PolygonP Q n’
@ poly2 = Rotatepoly 18 A
(3) % 7 ¥ gheiigs
b 1
@ ¥ A(0,1,0) ~ B(0,0,1)
@ ¥ 2 % L=Line[B, (1,0,1)]
ORLES: $) L X
@ A=RotateP g L
&) 2
@ i¥ A0,1,0) ~ B(0,0,1)
@ E:PlaneP A B



ORLE: #) L X
@ K=RotatePh ¢ B E
4. & 55 Wiy

(1) & a2
DA B P, y,) 2 A% m=L s sz s
a

Y= Yo =m(X=%,) =y — y(P)=b/a(x- x(P))
@ %5\

X=X, +at
y=y,+bt’

tOR
< Curve[x(P) + at, y(P) + b t, t, x(Corner[1]), x(@er[2])]
< Curve[x(P + at), y(P + b t), t, x(Corner[1]), x(Der[3])]
ORCE S
< Curve[x((x(P) + at) u + (y(P) + b t) v), y((x(P)att) u + (y(P) + b t) v), t, x(Corner[1]),
x(Corner[2])]
< Curve[x(P+atu+btv),y(P+atu+ btvy)xtCorner[l]), x(Corner[2])]
{x =X, +at
y=y,+bt,t0R
z=12z,+ct
< Curve[x(P+atu+btv+ctw),y(P+atutb+ctw),t, x(Corner[1]),
x(Corner[2])]
(2 Lz &Mty

D A(0,0,0) ~ A(0,2,0)+ A(N3,1,0)~ &(g,l.z—\f)
@ Bl(z—\/é,0,0) . BZ(—Q,LO)‘ Bs(—ﬁ,—l,O) . B4(O,O,2—\/6)
3 3 3 3
® Cl(gn/?,—l) : Cz(g,—x/i,—l) . Cs(—z—‘f’,o,—l) + C,(0,0,3)

@ D,(1,0,0) + D,(0,1,0) + D,(0,0,1) ~ D,(11,1)

® E(L,1,0)+ E,(1,0,1) ~ E,(0,1,1) - E,(0,0,0)



() &+ & Wi
@ A(0,0,0) ~ A(1,0,0)~ A(L1,0)~ A(0,1,0)~
A(0,0.1) ~ A(1,01)~ A(LLD~ A0,L])
@ B(1,1,1) ~ B,(-1,1,1) ~ B,(-1,-1,1) ~ B,(1,-1,1) ~
B.(1,1-1)* By(-11,-1)~ B,(-1,-1,-1)~ By(1,-1-1)

@3 C,(0,0,0) ~ C,(cosO ,sinog + C,(cos120 ,sinlzog .

C,(cos240 S|n24’0§ » C,(cos60, S|n602—\/§ C,(cos180, sln18’02—\/?3 .

C,(cos300 , S|n30’02—\/§ + C4(0,04/3)

(4) = ~ 5 RY a4
@ A(L,0,0)~ A(0,1,0)~ A(-1,0,0)~ A(0,-1,0)+ A(0,0,1) ~ A(0,0,-1)
@B,(1,1,0) ~ B,(-1,1,0)~ B,(-1,-1,0) * B,(1,-1,0)~ B.(0,04/2) ~ B,(0,0,~V2)
i+ - om RauE 1‘#
@D (x1L,+1,+1)
@ (0,x= ,%9)

@D (0,+1,+¢)
@ (x1,+¢,0)
@ (x¢,0,+1)



5. & 3D B %
(1) #&ARF¥a,05 360 > #E 0.1
(2) w&EARF¥F,05 360 > E 0.1
(38) 20=(0,0,0)% 7 A4k chfp B » FiE 2 LK
(4) iFgk X {unit}=0+(cos(a ),sin(a )cos(B))
(5) FgkY_{unit}=0+(-sin( a),cos(a )cos(5))
(6) i¥2kZ {unit}=0+(0,sin(B))
(7) iTw & u=Vector[O,X_{unit}]
(8) iTw & v=Vector[O,Y_{unit}]
(9) fiTw & w=Vector[O,Z_{unit}]
(10) THEFF L #FS 125 #HE 1
(11) i®w & uu=Vector[O-L*u,O+L*u]
(12) iTw & vv=Vector[O-L*v,0+L*V]
(13) iTw & ww=Vector[O-L*w,O+L*w]
(14) > > F x> =% O+Lu
(15) #&» =23y =% O+Lv
(16) & » =3 z> =¥ O+Lw
(17) i® % :#4) Polygon[O+L u+L v,0O-L u+L v,O-L u-L v,O+L u-L v]
(18) 4E4: Hi=n &, Atkdh Xy T 5



6. zFF 2R W iF
10M4p T #F ™ 538 % 942
deBlArF o B AR L 2> HY BLE G BB BF ~ ZH ~ A L W
(2,0,0),(0,2,0),(0,0,z° 4 Q % 77 = & % CBGD £ = & & BAFC 4p 2 #77) & éhw & 4 o i

I Fr e IR o

z
Al D
B{— c
E:- ..................... H y
F G
X
aF - FEsiEi (L2
Q7 -#HRE>»w & 5 (10-1)

|l

B)Q7F A B Rle 3 4pd
@) Qs - BFipe T = £ 3

(5) Q et At 5 <

(3 w&%ﬁﬁvﬁﬁﬁééx%ﬁ»ﬁx%)

(1) A=0+2w

(2) B=0+2u+2w

(3) C=0+2u+2v+2w
(4) D=0O+2v+2w

(5) E=O

(6) F=O+2u

(7) G=0+2u+2v

(8) H=0O+2v

(9) Wirr =>4



(10)# iz &% %8 CBGD

(11) % fF= & 48 BAFC

(12) w5 35 3 B,C2 ¢+ ¥ ¢ & i BLerv ik 4Rrf 7
K=(a,b,c)» K=O+a u+b v+c w

J=(d,e,f) - F=0+d ute v+fw

i# MB,MC, JB,JC

L E Y T g 2 ofe N

(1) 8= BT 5 > 425

@ 2 A=(1,0,0)~ B=(0,1,0)~ C=(0,0,1)

@ E:PlanepB C°

(2 T ook LB PEY 2 E S (abc)d 25t
@ TEBF ¥ ab,c

@ FEEEF X Yo 2o

® P=(x_0,y_0z _0O

@ E:a(x-x_0)+b (y-y_0)+c -z _0)= (
(B) T we—#38 : E:rax+tby+cz+d=0

@ T BF ¥ ab,cd

@ E:ax+by+cz+d=0

e A £ Sl i

o] 1

Qi riFsx06

@ iFacE ¥ wk

@ f(t)=16sir? ¢) /w cosf

@ g(t)=16sirt t) /w sing@

® h(t) = (13cos( )- 5cosf2 ¥ 2co4(3-) cos(@ ) +k
® curve (1), g(t), h(t),t,0,277]
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1 Geogebra'}i.—;}{ﬁl»

alt- = -> not equals alt-m -> mu

alt- + -> plus or minus alt-o -> degree sign

alt-- -> superscript minus alt-p -> pi

alt-< -> less than or equal alt-s -> sigma

alt-> -> greater than or equal alt-t -> theta

alt-, -> less than or equal alt-w -> omega

alt-. -> greater than or equal alt-0 -> to the powafed
alt-a -> alpha alt-1 -> to the power of 1
alt-b -> beta alt-2 -> to the power of 2
alt-d -> delta alt-3 -> to the power of 3
alt-e -> Euler e alt-4 -> to the power of 4
alt-f -> phi alt-5 -> to the power of 5
alt-g -> gamma alt-6 -> to the power of 6
alt-u -> infinity alt-7 -> to the power of 7
alt-i -> constant representing sqrt(-1)  alt-8 -xtte power of 8
alt-l -> lambda alt-9 -> to the power of 9
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2. f—‘;igtﬁfl)*

tGeoGebra » AP F rsiE ARG AR T4y £ A] ) KT R~ SHsY o B R R e RT

Entefi#t 7 ki dicst « T & 4 * SEE S R

&g 0 0F ~ BB S #§45'I€§;‘£(@?]»;>.i?;ﬁ#€- Enterj#t 7 )
L AL 2) A=(1,2)

LR pE X BF AR
o R P[2,30°] P=(2;30°)

BLAE LA A B F A R
AF B R B(2+3) B=2+3i

BLAE LA A B F A R
» B (B LEE7) | v=(13) v=(1,3)

BRI BT B
v B (L4 7) oL, 7] p=(1;alt-p/3)

3 PR FALLBFA B

v B R EkLELT) | g=-1+2 g=-1+2i
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3B EEH R ek 4

By 0T~ #eF N 3n 4 P (0~ % 2 i 3% Enteit 7)

fr-2P P=Point[f]

AB £ Segment[A,B]

AB 45 Ray[A,B]

AB E 4 Line[A,B]

AB =+ £ Vector[A,B]

OABC Angle[A,B,C]

5835 Polygon[A,B,C]

Frim Polyline[A,B,C,A]

T # Translatef 2, ]

7 dE Rotatefr i, & & sgdg ¢ ]

i ‘1’?—," Dilate[# 45+ 3 #c, 45 ® ]

AL Reflectf~ i ,8k] ~ Reflectft» i, ] ~
Reflectt~ i+ ,4£] ~ Reflectf i, &f41]

%ix BFGEF)REx - w BRI EERE

iz (#F) a=5x3+ 2012 a = 5*3+2012

FE () (2,3)1-3,2) (2,3)(-3,2)

= 3 273

SRl (2,3)0(-3,2)

5

% iz (4% #) (2+3)x(3-2) (2+3i)*(3-2i)
S 5! 51
Bedighex 4R gl Peox kil X(P)
Pdighiny &4k gk Py &4k y(P)

RS Fdcag b e i Div[a,b]

A (B i) S arg 1 E b chir i Mod[a,b]
PPN Bl a s BB b ehdo < 2 Fik GCDJ[a,b]

12




Bl o Bk HHca® Ficbak | = B #k LCM[a,b]

T BB B iT agiE i Round(a)

BYE |-23] abs(-23)

& ¥ C;’ BinomialCoefficient[5,2]
I (e sgn()

R sqrt()

>3 cbrt()

03 1angHs#c random( )

arp bergsik

FHcad b2 Bk

Randombetween(a,b)

FEPEPBEA

Shuffle[ <List> ]

S fenT K8 5

f(x)=x*-2<x<1

Function[x"2,-2,1]

[a,b]

& If[iF #,a]: & iE 2 EpEFETEa i If[condition,a]
B R A T

PerY If i *,a,b]: # i 2 ZpF¥ ¥ a> | iflcondition,a,b]
= BT Db

¥R X = 2cos Curve[x(2cos(t)),y(sin(t)),t,0,2 pi]
{y=sint Ost<ar

RE I S 2" 2"

hh e e ¢ expe)

(e s &) "

W 2 5 &) ld()

§H(7 105 A) o

3%?(&(."1 ai )%) |09ax Log(a,x)z¢ Log[a,X]

5 Sk sin()

A 5% S0 B cos()

S tan()

Hrr 3 e cot()
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hEIEE sec()
CEET csc()

asin( ) arcsin()

acos( )zt arccos()

i ¥ S fic atan( )¢ arctan()
4B Erdidic [X] ceil()
T B AT [X] floor(x)
5 18 5\ y= 2% —4x+ 3 y=2x"2-4x+3
- =% Gl f(x)=3x-2 f(x)=-3x-2
R f(x)=2x%*+3x+1 f(x)=2 x"2+3 x+1
= =X S Hc f(x)=-2x>+4x*-3 f(x)=-2x"3+4x"2-3

Fd SIS F(X) & g(X) P B 25

HCF[f(x),9(x)]

;\:
B 2 R 5 KA 5 IE 3 F(X) 2 g(x) d %o 2| LCMIF(X),g(x)]
;\:
f(x) eh- P 330k f'(x) Derivativel[f]
f'(x) Derivative[f(x)]
(%) ()
f(x) eh- FE S i f"(x) Derivative[f(x),2]
f"(x) (%)
f(X) ez P 3 30 e f"(x) Derivative[f(x),3]
f(x) ()
B B P~ ab? ol ¥ Min[a,b]
X B~ ab? gt ¥ Max[a,b]
5| & B g list? Bl ¥ Min[list]
% B BB £ list? s K Max[list]
g e Affineratio[A,B,C]
AB
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f(X) e nFF 3 S0 #c

£ (%)

Derivative[f,n]

#f(x) B R

BT (X) A B

Expand[f(x)]

E R (X+D)(x+2)(x+ 3

Expand[(x+1)(x+2)(x+3)]

#-5 3 N f(X) B

Polynomial[f(x)]

#1914

#5350 (X)) FlS e R

Factor[f(x)]

F17 A 3 X2 -4x+3

Factor[x"2-4x+3]

g 5

#(1,2),(3,4)(4,-1F ghenz =& F 37 5%

Polynomial(1,2),(3,4)(4,-1)]

S

()G

Simplify[f(x)]

v f§ X+2x+3X

Simplify[x+2x+3Xx]

. Sinx
TL FE?S_
COSX

Simplify[sin(x) / cos(X)]

it i —2sinx cox

Simplify[-2 sin(x) cos(x)]

%&@%ﬁ

f(x)*}“%x=aﬁvn:’z%1’>§*f%@;“

TaylorPolynomial[f(x), a, n]

NS

sinx x<3
f(x)=
) {xz x=3

f(x) = Iffx < 3, sin(x), x"2]

R Ty

f(x)=x+x+1,-2<x< 3

f(x) = Function[x"2+x+1,-2,3]

e f(x) &[-2,3]~ &= 10% (et e UpperSum(f(x),-2,3,10]
T e f(x) &[-2,3]~ &= 10% > 0T {e LowerSum(f,-2,3,10]
Jf;;qj—fr f(x) &[-2,3]~ 2= 10% i» gﬁﬁ;qﬁr TrapezoidalSum[f,-2,3,10]
f(x) e F S J' f (X)dx Integral[f(x)]
FY#cs 0
f(x) e 2 & J‘i f (x)dx Integral[f(x),-2,3]

J-_s2 2l Integral[x"3,-2,3]

f(x) 2 g(x) &% ¥ [ab] o5 4

Integral[f(x),g(x), a,b]

53 f(X) F W

2t

5 4 f(X) =X =X+ x+1hF W 2L

InflectionPoint[f]

FH A (X) i

5 1 f(X) =X = X2+ X+ 197G 49

Root[f]
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=

Sl SEEVESTE 'S
f(x)=0e- 2

A EES D S f(X) Y x=a kA

(- 42

Root[f(x),a]

PN () ieiE | 45 SR f(X) G dREE 4 angE | Extremumif]

Fl4id & c g Bk Vertex[c]

AR A ity & 0 =arg(A)

# 7| Sequence[(n,(1/2)*n),n,1,10]

RS list? ek

K ~%

Element][list,k]

M",ﬁ%% & list® & 2

RemoveUndefined]list]

Benad
FEELlNst? » BEAEEN A F Countiffi% i list]
e de BB & list endh g Appendft~ i list]
Mo de it A B & list enis g Append(listi- ]
e Sumllist]
BT afc Mean[list]
O Median[list]
ik Mode[list]
n MeanX[g: & & list]
2%
i=1

MeanY[g: & & list]

i=1

oo SigmaXX[g: & & list]
2%

i=1

oo SigmaYY[g: & & list]
DY

i=1

SigmaXY[g: & & list]
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ACEIG

Sxx[g-& & list]

>y -4

Syy[®-# & list]

> (% =AY - 1)

Sxy[®:# ¢ list]

AP M ok

CorrelatioCoefficientit & & list]

AP M

CorrelatioCoefficient][list1,list2]

WEFE M

FitLine[2: & & list]

)| Histogram([list1= &l % *2),list2(% & )]

)| Histogram[list1¢= i % *2),list2(f& 4
#)

£ £ B BarChart[list1(= % ),list2(% & ),w(& %
i A)]

£ % [B) BarChartfe 4~ e a,% o+ & b, & if 8 &

f(K), 5-#c Kk dic (& K13 i@ k2,7 I & s]
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. Sequence e *
Sequencef i+, % #ic, A4 B, 4 E, 7 ]
I # translatef i+ ,w £ ]
s 4t Rotatefr i, 4& & ,¢ <]
¥ 5 Dilate[ ¢ ], ]
&5t Reflectfir 2,7 & 4L
(1) 25 7]
TR F ko
list_1=Sequence[Sequence((i, j), i, 0, kD,jK]

B L Ol <=l e] om E
L Ec- M- |
A [

2) 853 :
EF ¥ ko
list 2=Sequence[Sequence|(i, j - 1), ij]0j, O, K]

THE I8 R 5 BE TE RE 0N B
BEENECEENEE O

e~

A w: @
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() &5 5
iz L 8- AB > T £ u=Vector[A,B] > iTif ¥ k>

list_ 3=Sequence[O +i/ku,i, 1, k-1]

e
ﬁ;: 9 1 SR TE WE 189
EllAA)elo)lallel[+] 5u 2
LEic-
n=4
B
o] -
#%: Sequence[A+iInu,i,1,n-1] ¢ O

(4) 8L 7 :
list_4= Sequence[(i,sqrt(i)),i,0,K]

[t 0N 4008 60 MUK TH R W9

[nEENFUERNCD DR :

Dic- M- ——

LS

(5) £ "B BLehALEC
list 5=Sequence[Segment[(0, 0), (6cos(t), Bpin¢, 0, 2t,n/24]

e

€ GeoGebra

T R AR S B TR HE B

DEEEECDESTE o

8 |

A

19



(6) s E B 7
list_6=Sequence[Segment[(i,-4),(i,4)],i,-K,K]

28] @: @

(7) mE B 7
list_7=Sequence[Segment[(-5,i),(5,i)],i,-4,4]

A A HE BE T OWE 5

1 L ol =] e

Liicr Mlv ———re

|| ——e

m=
R

(8) £ B 7
list_ 8=Sequence[Segment][(i,-4),(i,4)],i,-k,K]

T R ===

I EESETDESTE O

| @: @

20



(9) % & 1 7

£ GeoGebra,

| He g A 455 E TE e M

list_ 9=Sequence[Vector[A, Rotate[B, 2 k, A]], i, 0, K]

)

1l #c~

LS

IE i olellaiel=]l+] s

Gd

(10)E s & 7

T % a:-5~55 ¥ % k:1~-10> #jf ¥ d:0-~1
list {10}=Sequence[Line[(a + i, 0), (a +i,]1), O, k, d]

7 GeoGebra,
||t AR R MO TR WE W

Eld ol ALl =]+ o

A

(11)2 & 7

T ¥ ar-5~5 T ¥ k:1~10> ¥ ¥ d: 0~1
list {11}=Sequence[Line[(0, a+i), (1,a +i)],0, n, d]

[tk @m0 16 WA TH WE 89

B

A
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(12) = 7 g
FERAMEOFF Kk R UNY

list {12}=Sequence[Curve[x(O +tu+s V), y(O 4t sv),t, -k K], s, -k, k, 0.5]
list {12'}=Sequence[Curve[x(O +tu + sv), y(O ut+ sv), s, -k, K], t, -k, k, 0.5]

© GeoGebra (= [
xR GO R R TH WE B
NREF I RNSE B 8
CEec-
s L=3
B

o

wx] _ @

(13)T 7 2 §7) i = 372 D

list {13}=Sequence[Segment[D +i/ku, D #ku + V], i, 0, k]

£ GeoGebra.
|t I A 5 A TR WE B

Elllldolol 4Nl =] +] »a g

IR D

D

n=9

2 g

LS

3O

list {13}=Sequence[Segment[D +i/kv, Di+kv + u], i, 0, k]

€ GeoGebra l = B e
1R (48 10 15 R TR W B9

DEEREFE RN =B -
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(14) = 7w 384
list {14}=Sequence[Segment[Translate[A, Veator Vector[A, B]]],

Translate[C,Vector[i / n Vector[A, B]]]], i, M]

1EE RIE R M5 R T8 WE 8%
8

LA elOfe]aIN ][] on .‘

B

WA

list {14’}=Sequence[Segment[Translate[A, Veftdm Vector[A, C]]],
Translate[B,Vector[i / m Vector[A, C]]]], i, an]

2 WA IR K BE T WE 8% 4
e
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(15)F = F -
iz L A7E AB > & a=Segment[A,B} i ¥ k>
list {15}=Sequence[Circle[A,ia/n],i, 1]n

: ) (= [ ]
Lol Ol ] o] we g

#iE AT C,D» RE b=Segment[C,D} ¥ k>
list_{15})=Sequence[Circle[C, i b], i, 1, K]

P}

(16)F1 & 71
list_ {16}=Sequence|Circle[(0,0),i],i,1,k,0.5]
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(& eoteb
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I

WA
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A7) 5 7

list {17}=Sequence[x*2+y"2=i"2,i,1,k,0.5]

=X
|| 2 e 1 1S RE T S R i
| E [ A Aol el ] su
D < -
n=20 &

W

(18) | e

TR AR S BE TE AE B

list {18}=Sequence[Rotate[Circle[(6, 0), 2V 6], i, 1, 12]

DY [0 2 ¥ 1 o 9 P AN o

WA

(19) Flsn 4

list {19}=Sequence[Sequence[Translate[Circlef{) 1], Vector[iu +j v]], i, O,
10}, j, 0,10]
T

TR @ AR S BE TR AE 81

ME’H%"W,P"" Ol =2][ +] #u

iﬁ?\-jS-qu-nc-[Slqu-nc-rl'rlnsllt-[cirr:lc[(ﬂ, 0), 1], Vector[i u +j v]} i, 0, 10}, j, 0, 10]
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(20) FF 71

list_ {20}=Sequence|Circle](i,0),1],i,1,k]

i\@@@@@wﬂg@ -

@

)

—

=20

e

(21) F1 5 71

list_{21}=Sequence[Translate[Circle[(0,0),1],150)],i,0,K]

=ETX)

n=24

WA

(22) 1 7 71

list_{22}=Sequencel[Dilate[Circle[(0,0),1],i,(0],1,k]

TN
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(23) {1 4 51
list_ {23}=Sequence[Rotate[Circle[(4,0),0.5],12,(0,0)],i,0,12]

B ey
|| R AR S SR TH WA R
D [RERECEFENEE R B
1 . —
| n=19
A (]

(24) ¥ 2 71
TFF Kk 2L HF co
list_{24}=Sequence[Rotate[c,%Z 60)* i,], i, O, K]

e

B ) ol el e v

L

LS

(25) % &2 57 ¢
list_{25}=Sequence[Polygon[(0,0),(k,0),5],k,1,8

LR _ L L L
s e fiasiaw

[k

T e e af L
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5. GeoGerba Script# * 45 4

SetValue[n,1]; FENEES 1
n=1; ZENEENL
SetValuelt,true]; X AE B T

SetValuelt,false];

StartAnimation[t,false]; z

StartAnimation[t,true];

ZoomIn[0.5]; 451 0.5%
ZoomOut[2] E A
k=k+1; k=k+1
UpdateConstruction[] | £ 2 7% # (%€ %)

6. if :};14' %
-X+1,x<-1
f(X) =4 x*+1,-1< x< 2
COSX X= 2

f3(x)=if [x<-1-x _1jf k>= 2,cosk )X "2
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